Restar Enteros (D)

Emplee una estrategia de enteros para encontrar cada respuesta.

29-79 = 1-41= (-98) - 88 =
3-47 = 8-53= 47 - 94 =
26 -89 = (-64) - 91 = 32 - (-46) =
(-85)-21= (-9) - (-14) = 99-13 =
(-69) -5 = (-24) - (-10) = 22 - (-29) =
76 - 46 = (-1)- (-15) = (-82)-10 =
(-39) - (-60) = (-88) - (-63) = 33-(-36) =
(-90) - (-12) = (-21) - (-15) = 14 - (-6) =
41-84 = 98 - (-4) = (-63) - 95 =
(-48) - (-74) = (-50) - (-25) = 99 -57 =
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Restar Enteros (D) Respuestas

Emplee una estrategia de enteros para encontrar cada respuesta.

29-79 =
= (-50)

3-47 =
= (-44)

26 -89 =
= (-63)

(-85)-21=
= (-106)

(-69) - 5 =
=(-74)

76 -46 =
=30

(-39) - (-60) =
=21

(-90) - (-12) =
= (-78)

41 -84 =
= (-43)

(-48) - (-74) =
=26

1-41=
= (-40)

8-53 =
= (-45)

(-64)-91 =
= (-155)

(-9) - (-14) =
=5

(-24) - (-10) =
= (-14)

(-1)-(-15) =
=14

(-88) - (-63) =
= (-25)

(-21) - (-15) =
- (-6)

98 - (-4) =
=102

(-50) - (-25) =
= (-25)

(-98) - 88 =
= (-186)

47 - 94 =
= (-47)

32 - (-46) =
=78

99 -13 =
=86

22 -(-29) =
=51

(-82)-10 =
= (-92)

33-(-36) =
= 69

14-(-6) =
= 20

(-63) - 95 =
= (-158)

99 -57 =
=42
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